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QUESTION 1

Which two security methods will protect iSCSI traffic from unauthorized tampering or spoofing? (Choose two.) 

A. internet Protocol Security (IPsec) 

B. ACLs 

C. encryption at rest 

D. Challenge Handshake Authentication Protocol (CHAP) 

Correct Answer: AD 

 

QUESTION 2

What is the name of the process by which a SAN dynamically extends volumes depending on server and application
needs? 

A. copy On First Write (COFW) 

B. deduplication 

C. LUN expansion 

D. thin provisioning 

Correct Answer: C 

 

QUESTION 3

Which device would be an NDMP server1? 

A. a disk storage device 

B. a tape storage device 

C. a NAS device 

D. a DAS device 

Correct Answer: C 

 

QUESTION 4

What are two characteristics of Challenge-Handshake Authentication Protocol (CHAP)? (Choose two.) 

A. CHAP uses a parity algorithm to jumble the credentials for security. 
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B. CHAP uses a Point-to-Point Protocol (PPP) method. 

C. CHAP uses a hash mechanism so the clear text authentication piece is never sent. 

D. CHAP is required for iSCSI initiator authentication 

Correct Answer: BD 

 

QUESTION 5

What do RAID 5 sets use to rebuild data? 

A. mirroring 

B. parity 

C. Flash memory 

D. data quiescing 

Correct Answer: B 

 

QUESTION 6

You explain to a customer that storage data compression can be used on most data types. However, there are
exceptions. Which file type is an exception? 

A. *.bat 

B. *.jpg 

C. *.txt 

D. *.ora 

Correct Answer: BD 

 

QUESTION 7

Which software technique reduces the effects of a hardware component failure? 

A. multi-pathing 

B. LUN masking 

C. volume management 

D. zoning 

Correct Answer: A 
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QUESTION 8

Which type of device would you typically use for file access storage? 

A. NAS 

B. DAS 

C. HBA 

D. SAN 

Correct Answer: A 

 

QUESTION 9

Which entity is responsible for making cloud services available for cloud consumers? 

A. cloud provider 

B. cloud auditor 

C. cloud storage 

D. cloud infrastructure 

Correct Answer: A 

 

QUESTION 10

Which device would communicate to a DAS? 

A. switch 

B. HBA 

C. NIC 

D. DB9 serial cable 

Correct Answer: D 

 

QUESTION 11

Which statement is correct regarding LUNs? 

A. a representation of segmented storage space to be provided to their servers 

B. a scenario where log file servers reach maximum disk capacity 
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C. a method for encapsulating Fibre Channel frames 

D. a method for optimizing LAN traffic 

Correct Answer: A 

 

QUESTION 12

What is the function of the Fibre Channel name server? 

A. It retrieves all files from a file store by name. 

B. It provides service to register Fibre Channel N_Ports. 

C. It partitions Logical Unit Numbers (LUNs). 

D. It load balances the SAN traffic. 

Correct Answer: B 

 

QUESTION 13

You want to manage systems and devices on a network with traps that signal the occurrence of an event In this
scenario, which protocol would you use? 

A. TLS 

B. CDMI 

C. SMTP 

D. SNMP 

Correct Answer: D 

 

QUESTION 14

You are designing a synchronous remote mirror solution. Which two factors regarding maximum distance must be
considered in this scenario? (Choose two) 

A. the customer\\'s application tolerance for latency 

B. the customer\\'s RTO requirement 

C. the availability of high-speed communication links 

D. the amount of storage required by the customer\\'s application 

Correct Answer: BD 
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QUESTION 15

What is an implementation of a secure, multi-tenant cloud environment that is externally available to all users? 

A. public 

B. secure 

C. private 

D. hybrid 

Correct Answer: A 
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